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Who Should be Your Customer?: 

The 80/20 Rule
Example

A company has three customers and doesn’t know who to focus on.
	Business Customers
	% Money
 
	% Time
	Difference

(Money – Time)

	Large Enterprises
	50%
	50%
	0%

	Micro-Small 
	10%
	25%
	-15%

	Medium
	40%
	25%
	15%


The problem customer group is micro businesses.  This can be solved by reducing sales efforts for this target market, increasing the price of this option, or reducing how long this takes by automating or outsourcing pieces of delivery.

Your Company

	Business Customers
	% Money 
	% Time
	Difference

(Money – Time)

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


� Margin is the best indicator here, but revenue can be used.
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